20227

1=

*

T

(i, —
X B D = FEONES X 2 =3 D = FEONES
BEEE8EX | 9:00 | 10:00] 11:00 | 12:00[ 13:00| 14:00] 15:00] 16:00[ 17:10 | 18:10| 19:10 | 20:10 BEEB8EX | 9:00 | 10:00] 11:00 | 12:00[ 13:00] 14:00] 15:00] 16:00] 17:10 | 18:10| 19:10 | 20:10
BIERO @ 60 @6 ® 0 G[0 @ O ®B[ERO @ @6 ©® 0O [0 @ @ ®
1 |m, 18 g | |PEE NP REFRT AR AETED
2 2
=| 3 =| 3
= : B 5?
1 1% 12:608908 1 AR5R8EE 1 1
2 = > - 19 & >
=| 3 1213 14 N E
T |= : VAE :
3 g ! 1215 9:50R8 % IR =212:5088%5 20 [ ! ZfE  12:508918
2 ARER8EEME 1 2
Bl=: K=
4 ﬂiﬁm&-/J\-ED-E%iﬁBZEZE@iﬂE%EEI 21 % 1 1Bi% 9:605811RS12:608898 | AREREE &M 1
2 2
=| 3 =| 3 1213 14
B 5? IS :
1 EeE DB 1 1
5 & > 22 |& >
W= 3 | 13 1 = 3 1213 14
YAE : = :
1 ZXfe  12:60B9%8 1 1218 9:50R8 % {R=212:5088%5
6 |5 == 23 (#,
=| 3 =| 3 1213 14
K= : T|=:
7 s Bt o0 IR 1200508 [AKEis BE 1 |[ oy |5 | =R 12:508908
2 2 G
=| 3 =| 3
7[( = : B |= :
1 BN -P EEERRBZEHEFEL
8 |m > 25 |= >
=| 3 =| 3
= : B 5?
1 Bf& 9:5055% 1R 12:6069158 1 AR B
9 & > 26 | >
= 3 2] 18] 14 s |= 3
T |= : VAE :
1 e 12:508908 1 Zte _ 12:508918
10 =, AREE B 2T |&
= 3 = 4 2| 13| 4
BIE; K= 5
1 1 Bt 9:5050R=12:608005 | ARGRAEHE 1
RE: 3 28 |m 3
= 3 = 3
1 1Bt& 9:5058%1R=212:506826 1
121, TS B 29 |= ,
W/ |= 3 = 3
K=+ o
1 5% 12:500908 1 Bi& 9:6088% IR = 12:5089%5
13 & 3 30 & 3
= 3 12113 | 14 = 3
Y Qe Ti=.
1 Ases @ 1 1 @ 12:5089%8
4=, 31|a eS| ]
= 3 = 3 1213 14
K|=+ Bz
15 =, G —ISHEREFRHSOIRESA -G
&= *FRIEOUFILTHEESTT (B4, ON-YBE)
: e 5005 KRR RBAAE E FRATAEESB THINET
16 |= 22 00mE45 *RED, BODBRTSHITESELA (BRI
2 BRERIERICEN 3B B B ES RN TEE LT RS
T+ |= 3 2115 H CERNESHBEE, RECSTTEEHI)
5 _ *RAESRABE. FURECT
17 [ ] JB7® 950637 {5 12:6 05878 LOEBIAE TICHE—YETRBERE L TTFS (B5RE)
2 AR @ *FRIGTEIL [E1ECBRAs] PUS T
gl=23 [12] 18] 1 KA TRRHEICLDBTE - HEREUH BB EBIESHHOEI @
5 | L EBTRROSEERAMERTSN | | |




	200905

